COMP-4640: Intelligent and Interactive Systems
Homework #1
Due: Sept 11, 2007
Fall 2007
Name: ____________________________

Chapter 1: Introduction

1. [30pts] Do Problems 1.3, 1.7, 1.9, 1.10, 1.13.
Chapter 2: Agents

2. [15pts] Do Problems 2.1, 2.2, and 2.5a, b, c.
Chapters 3: Search

3. [55pts] In the figure below, a search tree is shown with the values on each link representing the path cost of going from a node to its successors. For this problem, provide traces to the first solution found for the following:
a. [5pts] Depth-Limited Search (l = 3)

b. [5pts] Depth-First Search

c. [5pts] Breadth-First Search

d. [10pts] Uniform Cost Search

e. [15pts] Iterative Deepening Search

f. [15pts] Iterative Deepening Uniform Cost Search
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(10) A Few definition for tree search and a search.

Nodes  D & E are descendents (successors) of B.

Node _A____ is the ancestor of B & C

The branching factor, b, is two .

The depth is three.
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